
A (Printed Pages 8)

Roll No. ____________
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B.A. (Part-III) Examination, 2015

(Regular & Exempted)

ECONOMICS

Paper-III (A)

(Quantitative Methods)

Time Allowed : Three Hours ] [ Maximum Marks : 50

Note : Answer five questions in all. Question No. 1

is compulsory. Attempt one question

from each Unit. Marks are indicated against

each question.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØeMve meb. 1 DeefveJeeÙe& nw~

ØelÙeskeâ FkeâeF& mes Skeâ ØeMve keâerefpeS~ ØelÙeskeâ ØeMve kesâ Debkeâ

Gmekesâ meeceves Fbefiele nQ~

1. Explain the following briefly :

efvecveefueefKele keâe Gòej meb#eshe ceW oerefpeS :

(i) If Σd2 = 48 and n=12 calculate the Rank

Correlation. 2
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(4)

(b) Prove that : 3½

efmeæ keâerefpeS :
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3. (a) Find the vertex, focus and directrix of the

parabola 2½

5x
2
+ 30x+2y+59=0.

hejJeueÙe 5x
2
+ 30x+2y+59=0 keâer veeYeer, efveÙelee

leLee Meer<e& %eele keâerefpeS~
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Ùeefo 








−
=

973

052
A  3A %eele keâerefpeS~

(c) Solve simultaneously 2½

Skeâ meeLe nue keâerefpeS
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Unit-II

 FkeâeF&-II

4. (a) The total cost and price faced by a firm



Ùeefo Σd2 = 48 leLee n=12 lees keâesefš men-mecyevOe

iegCeebkeâ keâer ieCevee keâerefpeS~

(ii) Bar Diagram 2

yeej DeejsKe

(iii) Irrational numbers 2

DeheefjcesÙe mebKÙee

(iv) Which is the best measure of Central ten-

dency and why? 2

kesâvõerÙe ØeJe=efòe keâer meyemes DeÛÚer ceehe keâewve meer nw Deewj

keäÙeeW?

(v) From a pack of 52 cards one is drawn

out randomly. What is the probability that

it is either a King or Queen. 2

52 leeMe keâer ieñer mes Skeâ heòee yeslejleerye {bie mes efvekeâeuee

ieÙee~ keäÙee mebYeeJevee nw efkeâ Jen jepee Ùee jeveer nesiee~

(vi) Find equation of a straight line whose gra-

dient is 2/3 and intercept is 4. 2

mejue jsKee keâe meceerkeâjCe %eele keâjes efpemekeâer {eue 2/3

Deewj Devle:KeC[ 4 nw~

(vii) Bowley's coefficient of Skewness. 2

yeesuesF& keâe efJe<ecelee iegCeebkeâ
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(viii) Components of time series 2

keâeue ßesCeer kesâ mebIeškeâ

(ix) Identity matrix 2

FkeâeF& cewefš^keäme

(x) If y= 4x+sin x find dy/dx. 2

Ùeefo y= 4x+sin x lees dy/dx %eele keâerefpeS~

Unit-I

 FkeâeF&-I

2. (a) A firm produced nothing in its fifth year.

Its total production during the first four

years was 2,400 units. Find : 4

(i) Production of the firm in the first and

fourth year.

(ii) Yearly increase or decrease in pro-

duction.

Skeâ Heâce& ves heeBÛeJeW meeue mes kegâÚ veneR Glheeefole efkeâÙee~

Gmekeâe henues Ûeej meeueeW ceW kegâue Glheeove 2,400 units

Lee~ %eele keâerefpeS efkeâ :

(i) henues  Deewj ÛeewLes meeue ceW Gmekeâe Glheeove efkeâlevee

Lee~

(ii) nj meeue Gmekeâe Glheeove efkeâlevee yeÌ{e Ùee Ieše~

(2) (3)
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(8) (5)

are T
C 

= 500+ 4q+8q2 and P= 304–2q.

Find the quantity and profit at the equilib-

rium level. 5

Skeâ Heâce& kesâ meeceves kegâue ueeiele leLee cetuÙe nw T
C 

=

500+ 4q+8q2 leLee P= 304–2q, meblegueve mlej

hej cee$ee ueeYe %eele keâerefpeS~

(b) The propensity to save in a country is

given by S=0.2y–50 and the level of in-

vestment is given by I=0.1y, where y is

the income, find the equilibrium level of

income. 2½

Skeâ osMe ceW yeÛele keâjves keâer ØeJe=efòe nw S=0.2y–50

Deewj efveJesMe mlej nw I=0.1y peneB hej y yejeyej nw DeeÙe

kesâ meblegueve efmLele ceW DeeÙe %eele keâerefpeS~

5. (a) The demand function of a commodity is

given by the equation 2P

27
x = . Find the

elasticity of demand at P=3. 2½

efkeâmeer Jemleg keâe ceeBie Heâueve Fme Øekeâej efoÙee ieÙee nw

2P

27
x = , P=3 hej ceeBie keâer ueesÛe %eele keâerefpeS~

Gmekeâe efJeMues<eCe keâerefpeS :

Price of Tea Price of Coffee

ÛeeÙe keâe cetuÙe keâe@]Heâer keâe cetuÙe

10 39

14 21

16 15

18 9

22 6

28 0

9. Compute Fishers Ideal Index Number from the

following table and explain why it is an Ideal

Index Number : 7½

efvecveefueefKele DeeBkeâÌ[eW mes efHeâMej keâe DeeoMe& metÛekeâebkeâ %eele

keâerefpeS leLee mhe° keâerefpeS efkeâ Jen DeeoMe& keäÙeeW nw :

Commodities 2010 2014

Jemleg Price Quantity Price Quantity

cetuÙe cee$ee cetuÙe cee$ee

A 6 56 9 55

B 2 100 3 125

C 4 60 6 65

D 10 30 14 25
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(6) (7)

(b) If 
3)1x2()5x(

2x3
y

+++
+=  find 

dx

dy
. 2½

Ùeefo 

3)12()5(

23

+++
+=
xx

x
y

, 
dx

dy
 %eele keâerefpeS~

(c) If z = x3e2y  show that 
dxdy

z

dydx

z 22 ∂=∂
.

Ùeefo z = x3e2y efmeæ keâerefpeS efkeâ :

dxdy

z

dydx

z 22 ∂=∂
. 2½

Unit-III

 FkeâeF&-III

6. Calculate the Median and Q
3
 from the data

given below : 7½

efvecve DeeBkeâÌ[eW mes ceeefOÙekeâe leLee Q
3 
keâer ieCevee keâerefpeS :

Marks No. of Students

Debkeâ Úe$eeW keâer mebKÙee

below 30 69

30-40 167

40-50 207

50-60 65

60-70 58

70-80 27

80-90 10

7. Calculate the coefficient of variation for the

following distribution : 7½

efvecveefueefKele meejCeer mes efJeÛejCe iegCeebkeâ keâer ieCevee keâerefpeS :

Values Frequency

cetuÙe DeeJe=efòe

10 1

20 5

30 12

40 22

50 17

60 9

70 4

Unit-IV

 FkeâeF&-IV

8. The following table gives the prices of tea and

coffee. Calculate Karl Pearsons coefficient of

correlation and analyse your results : 7½

efvecveefueefKele meejCeer ÛeeÙe leLee keâe@]Heâer kesâ cetuÙe efoKeeleer nw~

keâeue& efheÙeme&ve kesâ menmecyevOe iegCeebkeâ keâer ieCevee keâerefpeS leLee


